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Analyzing last clause of 'n mwn: assignment of nnT1n Y to 110 772 and limitations to identifying nnm »y
a  Source:v.1implies that only individuals are judged 7»wa->whole cities judged by »mn 772
b Limitation #1: no nnmin 1y on a border -
i Source: v. 2 — 717pn (per v, who is ®1pnn oyv wNT, this will lead to enemies occupying land)
¢ Limitation #2: cannot declare 3 nnT ™y
i Source:v.3 states nnx, but 71y (plural) implies 2 - 2 allowed, not 3 (supporting xn»12)
ii 37 sometimes assigned this limitation to one 7”3, but multiple 17 'na may declare more than 2
1 Other times: he interpreted broadly — even multiple 7 'na may not declare (a sum of) 3 = geographic vacuum
(a) 577 (therefore) it only applies when done in one area; but in varying regions, may declare more
(b) nr /1 evenin dispersed regions, may not make 3 — due to nnp (geographic vacuum)
Analysis of 1 mwn — makeup of »y1n 772 (71) and mvp »7Mo (23)
a  Reason for 1227's position: v. 5 implies that nwn is supervising the 70 (+1=71)
b A7 “x interprets ny as on account of the N1ow (but he’s not a member of the collegiums)
i a7 v.6 isread as nwnjoining them
ii /777 7 v. 6 means that they must be like nwn
1 237 infer that from nR WwN PHYn Ypm (and infer to N917Y 1 7NID)
(a) Tangent: Aggadic excursus about 77m T1O8 (vv. 7-13)
¢ Argument for 23: add 3 in order to ensure a convicting majority of 2 (ny1% n»on)
i Challenge: in any case, there can’t be a convicting majority of 2 (since number is always odd)
ii ~ Answer: indeed, only way it could happen is if we add o277 (due to abstention) or %1130 7”2 according to *™ (70)
d  Tangent: miscelleaneous rules about 11710, specifically in capital cases
i 172358 77 when we add (in case of 11 vs. 11 [capital case] and 23 doesn’t know) — we can add 2 (=24)
1 Challenge: this is obvious
2 Defense: ™10 that the abstainer is considered present and if he decides, we’d accept it — 9"np that he is “gone”
ii  n279 37 if the entire 23 ruled for conviction, we excuse them and retry
1 Reason: since we know that a convicting court must “sleep on it” (371 m%n), there’s no way they’ll reevaluate
iii 2777 77 members must be experts, including witchcraft and all known languages — to hear from o1y directly
1 And: must know how to “declare y7w pure” using logic (37's example from snake)
2 a7 regarding languages, must have 2 that can speak and 1 who can understand (or 3/1)
(a) Tangent: list of 4 who knew all languages in M1’ — included pynw 1 “who judged before them”
(i) Tangent: identifications of various n'nan by their nicknames (including n’nan na% n7)
Analysis of end of 'y mwn — dispute whether a town requires 120 (n'nan) or 230 (7>nn1 '9) to qualify for nvp M TMO
a  120: 3 rows of 23 +23 = 92+10 1”222 YV D1YVa+12 factoti of 72=114+6 indispensible citizens (e.g. doctor) = 120
b 230: (10 per member of the 7"1)
i »avrequires 277 (need another 47 to add to 71 if they are divided) (or 278
1 Reason: we add until we get to size of 51130 772 (70 — hmi ;71 — 1127)
¢ Coda: v. 14, against 600K men, leads to total of 78,600 judges!
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